Best model for HELP J143047.622+335657.601 at z = 1.193 x2=2.25
OPTx2=2.15 IRx?=4.06 threshold (OPT IR)=17.54 [um]

102 3 : Stellar attenuated
E S R Stellar unattenuated

—— Dust emission
—— AGN emission

101 E = Model spectrum
E ® Model fluxes
i [ oObserved fluxes
— 109 5
Py E
£
< 10-1 4
E 10
[N
10—2 4
1073 4
é ]
= ]
= ] ==f=(Obs-Mod)/Obs
5 ]
S ]
b ]
 O-+=-%*-FrrriHa&art+--+------1p---—--=-——"=—=—=—=—==—=====-
b ]
o ]
2 1
T -1 ! clGALE
(V]
o

10° 10! 102 103 10% 10°
Observed wavelength [um]



